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Unit 3 - Week 2: Mathematical Logic

Course outline

Assignment 2

The due date for submitting this assignment has passed. Due on 2019-08-21, 23:59 IST.
As per our records you have not submitted this assignment.

How to access the portal

Week 1: Mathematical Logic

Week 2: Mathematical Logic 1) If the domain is the set of words {violet, indigo, blue, green, yellow, orange, red}, which of the following sentences is/are true? 1 point
®lect Filr'““ GrdErangic: (P\¥x(if x does not contain the letter ‘', then x contains the letter 'n’)
Lzl e, {Q) dx(if x contains the letter ‘&', then x contains at most 4 letters)
Lec 2: Proof System for (R) ¥x(if x contains more than 5 letters, then x contains the letter ‘o)
FPropcal
_ _ allof P,Q.R
o P i L
s ' only Q and R
Quiz : Assignment 2 only P
Feedback form Mo, the answer is incorrect.
Score: 0
Week 3: Mathematical Logic Accepted Answers:
And Set Theory all of F, Q, R
Week 4: Graph Theory 2] Q2. If the domain is the set of integers, then which of the following is/are true? 1 point
PWa(n + 1) > n {Q) Inin = 2n)
Week 5: Graph Theory-Il L T T

alof K Q,Rand 5

Week 6: Set Theory & Number only P, Q and S

Theory
only P, Q and R
Week 7: Set Theory & Number only P
Theory Mo, the answer is incorrect.
Score: 0
Week 8: Combinatorics Accepted Answers:
only P, Q and §
Week 9: Combinatorics
3) Which of the following are logical consequences of {(a — —=f), f, (-y = a)} ? 1 point
Live Session-1
(@ = —ff)
Week 10: Number Theory
_ : —f
Live Session-2
¥
Week 11: Algebra
o

Week 12: Algebra-Il

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
¥

4)  Which of the following are logical consequences of 1 point
{(af + af) + af), (a + f) = (y = a), 7]

- =1

=11

o
Mo, the answer is incorrect.
score: 0

Accepted Answers:
a

5) In the following, the domain of x is a set of students and the domain of y is a set of courses. If Pxy stands for “student x is in course y". 1 point
Which of the following paraphrases the sentence: “No course 1s without students™?

dyWxPxy
dxVyPxy
YydxPxy
YxdyPxy
Mo, the answer is incorrect.
Score: 0
Accepted Answers:
YydxPxy
6) Which of the following is the negation of ¥x3y(Pxy — Oxy) 1 point

Yxdy(QOxy — Pxy)
3xV(PxyQxy)

Vx3y(PxyQxy)

Yxdy(Pxy — Qxy)

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
AxV{ PxyQxy)

71 Which of the following is a logical consequence of Vx{Px v (Jx) 1 point

Vx{Px) v Vx{({Ux)
Jx{Px) v dx{({x)
Hx{Px v Ux)

-3x(Px A Ox)
Mo, the answer is incorrect.

Score: 0

Accepted Answers:
Vx(Px) v Vx(Qx)

8) Which of the following is/are logically valid? 1 point
(PIA!x(Px) = Jx(Px)
QY¥x(Px) — IAlx(Px)
(RIA!x(-Px) = ¥x(Px)

allof P,Q and R
only P

only P and Q)
only Pand R

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
only P and R



